Unit 2: Crime Doesn’t Pay

Complete each sentence with a word from the box.

abandon | hijack | misdemeanor
declined |inmate |unauthorized

1 .A man tried to my car today! He told me to get out of
the car, but I locked the door and sped away.

2 .The crime was a , S0 he will probably not go to jail.

3 .The criminals had to the car because it was too small
to hold all of the money they had stolen!

4 He has been an at that prison for ten years.

5 .When I tried to use my credit card today, it was
I guess I've spent too much money this month.

6. The sign on the beach says "No vehicles." That
means we can't drive on the beach without permission

Complete each sentence with the correct passive form of
the verb in parentheses.

1. Yesterday, the stolen jewels in a child's backpack. (find)

2. Tomorrow, the thief to prison. (send)

3. The painting from the museum two years ago. (steal)




4. The driver a warning by the police officer. (give)

Complete each sentence with the past perfect or past
perfect progressive form of the verb in parentheses.

1.I lunch when I heard a strange noise. (eat)

2. She when she was woken by the telephone. (sleep)

3. We to study for the test, and we failed it. (forget)

4. He the letter, but it never arrived. (send)

Choose the best answer to fill in the blank in each
question.

1. When she was younger, she afraid of the dark.
A. used to be

B. would be

C used to

D. use to be

2. What were you doing you were living in Riyadh?
A. when

B. where

C. while

D. which




